W/

%?@fzk\"t%bﬁ

3‘ FAVDLY ERYDHB-LE 2 (6)

T
|

ROEHEELIL LS,

| kgd50g+ 2kg50g = 3kg | 000g
=4kg

2kg400g+ 6kg750g =8kg | 1 50g
=9kg | 50g

3kg800g + 2kgb50g =5kg | 350¢g
= 6kg350¢g

5kg900g+ | kg900g = 6kg | 800¢g
="Tkg800g

| kg800g + 4kg750g =5kg | 550g
= 6kgb50g
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4kg850g+ 2kgb650g = 6kg | 500¢g
=Tkg500¢g

2kg600g+ 2kg800g =4kg | 400¢g
=5kg400g

3kg350g+ 3kgb50g = 6kg 1 000g
="Tkg

2kg650g + 3kg750g =5kg | 400¢g
= 6kg400g

5kg400g+ 3kg850g =8kg | 250¢g
=9kg250g

Bz o LTO¥BT V> MIWebH A M SERHTYD>O— RTEET.  https:/FBTU> b.com



